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İkinci Derece Denkleme Dönüştürerek Çözme Çalışma Kağıdı 

 

1.   𝑥4 − 5𝑥2 + 4 = 0 

denkleminin çözüm kümesi nedir? 

 

 

 

 

 

 

2.    𝑥 + 2 2 + 3 𝑥 + 2 + 2 = 0 

denkleminin çözüm kümesi nedir? 

 

 

 

 

 

 

3.   𝑥−2 + 3𝑥−1 − 10 = 0 

denkleminin çözüm kümesi nedir? 
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4.   32𝑥 + 12. 3𝑥 + 27 = 0 

denkleminin çözüm kümesi nedir? 

 

 

 

 

 

 

 

5.   4𝑥 − 6. 2𝑥 + 8 = 0 

denkleminin çözüm kümesi nedir? 

 

 

 

 

 

 

 

6.    𝑥2
3

− 2 𝑥
3 − 3 = 0 

denkleminin çözüm kümesi nedir? 
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7.   (𝑥 −
3

𝑥
)2 − 6(𝑥 −

3

𝑥
) + 8 = 0 

denkleminin çözüm kümesi nedir? 

 

 

 

 

 

 

 

 

 

 

 

8.   (𝑥2 + 4𝑥)2 + 2(𝑥2 + 4𝑥) − 15 = 0 

denkleminin çözüm kümesi nedir? 
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